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Specialized Tissues In Plants
I. Seed Plant Structure

1. What are the three principal organs of seed plants?
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2. Circle the letter of each sentence that is true about a function that roots perform.

(a.) They anchor plants into the ground
b. They compete with other plants for sunlight.
‘c.) They absorb water and nutrients from the soil.
%cj)l’hey hold plants upright. (v o 100 wgtery +’~'D
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4. Lc aves” are the principal organs in which plants carry out photosynthesis.

11. Plant Tissue Systems

1. What are the three tissue systems of plants?
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2. Dermal tissue typically consists of a single layerof € o cier YW 4:_\ ) _cells.
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4. What is the function of trichomes? [{¢ [ o Oy L’f‘i’ Jr ke { e‘a.‘F (‘Fm‘LL\f)
5. What do each type of vascular tissue transport?
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III, Roots

1. How are primary roots and secondary roots different in some plants?
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2. Complete the table about types of roots.

tissue are cells that lie between dermal and vascular tissue.

Type Of Root Description Examples
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Label the parts of a root on the illustration.
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4. What are two functions of a plant’s roots?
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5. What role does calcium play in a plant? (\ ,-M,J-H\ + c,»li\r )& e a‘p ce “J’

6. What results if a plant is deficient in nitrogen? S'{‘»&u Gr,_r}’ W / f-?x Ye ™
IV. Stems Leaves
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What are the two important functions of stems?
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. What is primary growth ina plant? [, . co5e ia fLﬂ-l— fen { ‘-\
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Define the term aplcal meristem.
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Primary growth of stems is produced by cell division in the apical meristem.

Circle One : False

ge Cco «\(Q s, growth is the pattern of growth in which stems increase in width.

6. What type of meristematic tissue increases the thickness of stems over time?
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7. What does the cork cambium produce? o uc]-*u* Cu ver \_nj ?p 5*@ w ]~
8. Most of what we call “wood” is actually layers of phleem.
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10. How can you estimate the age of a tree? C;_M'i' AT g e Cxuy r-section

11. Circle the letter of each sentence that is true about cofk.

(a.)Cork cells usually contain fats, oils, or waxes.
b. Cork cells cause the léss of water from a stem.
The outermost cork cells are usually dead.
.)Cork cambium produces a thick, protective layer of cork.

12. Label the parts of the illustration of wood.
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13. What are four kinds of modified stems that store food?
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1. The structure of a leaf is optimized for what purpose?
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2. m e1e {\L-}; | l is ground tissue that makes up the bulk of most leaves.

3. Define the term stomata.
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LA TP [c[-:,"\;) 5. Why must a plant have its stomata open at least part of the time?
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‘—a'—-—-— : 6. In general, stomata are closed at night.
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. How is the structure of leaves of a pine tree an adaptation to dry conditions?
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e 8. What are cactus leaves adapted for?
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